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1 3 4
A = 11 1 =

- 2 3 1
fW~t3~l~Utl'2  (row equivalent) fh B



1 4 6

LLtl7 l-2 1-[ 1-2R,+R,  0 5 2



-2 2 1
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3 1 4 6

(n) [ ]

(4
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2 1 4

A = [ 104 1-2 0 2

.

c;, I 0 1 2 1,o-2 4 4 2 1
I

I 0 0

-2c;c* 0 1 4
-4c,+c,

072 2. 1

-
-4c,+c,

f-l/

2R,  t R3

[ o-2 0 1 0 1 0 0 10 I
I 0 0-o 1 0 1 0 0 10 I *.

.I_ -..  . .-



.

150

w 100

$Rj o 10 =I,

! I0 0 1



A =

3

1

3

1 -

1

1

1

1
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0 -1 -1 -1

-2c,+c,

-3c,+c,

-c, +c4

-
R,+R,

-c,+c,

-c,+c,

=

r 0 1 0 1 0 1

L 0 0 -1 0 -1 0

1 1 0 0! 0 0 0 0 0 1 0 0 1

I
1 0 0

0 1 0

0 0 0

0 0 0I, 1 0L 1--_I-_010

0

1

-1 101
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1[ 0

k0

E,A =
0

I 0 10 1

L&XqN  k fhW,u~

E

Ls
upbflo

AE, =

=

’ I
alI +h2  -aI2

1 0
= azl  + kaz2 az2 ’

k I
a3  I + ka,, a32
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nio E;‘EI =  - 1 ,

6&t E;’ = E, =

1 0 0
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det EA = -detA  = detEdetA; det E = 1

ttrit det AE = -detA  = detAdetE; det E = 1

nsG  2 51 E rihtum3n&iypnQ~~  2 C&b EA tw  AE Ghua?n~‘asI6~innia

~t-!-bttkl-d (M%Wld)  bl “) 2104  A &fJ c ‘?llXJ%¶J  tWW&&lfJ~KJ¶$Jn  2.3.7 S:%8

det EA = cdet  A = det EdetA; det E = c

wt det AE = cdetA = det AdetE; det E = c

m&T  :s 51 E thkumTn&mmafn~  3 && EA km: AE %mM%&hIK~innia

bm c ttilvomn  (v+hwaJA)  d i Shrmhtna (M”aoam~rT)  4  j uo.xuh-4  A mut=X~

LW’SltQ”;M  kW’lq¶+JW  2.3.9 Tt,tb?l

det EA = det A = det Edet A; , det E = 1

det AE = det A = det Adet E; det E = 1

9in  3 n5Gh&4  61.pl9&hIu’ii  E ~~t~utu~jn~~igP?a~fa~sly  tva:K

det EA = det E det A
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LLR:: de t  AE = det  Adet  E #

vmm-pjm  4.3.4 r57a7u71nuu7un~~j~~~~~n~~~~~~~  nddo

$1 B = EkEk.,  . . . E2E,  A
4.b
%Juu det B = det E,dE,-,  . . . det E, det E, det A (4.3.3)

ttFitn"7 B = A E,E2  . . . Ek.,Ek

&iL detB  = detAdetE,detE,...detE,-,detE, (4.3.4)
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7. B = I 13 4.’

I l,o

8. B = ! 0 10 0 0 I (

4
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10.  B = A = 10 1
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1 .

2 .

3 .

4.

5 .

6 .

1 3[ I4 0

[ 4 8 -1  -2  1
[ 3 1 1 0  0  1 0 0 1 1

0 4 1[ 10 3 1

1 2-3

1 3 1[ 11 -5 0

2-2 1

x,+3x2 = 4
d

2x,-2x2  =  6

x,-4x2  =  2

2x,+x, = 1



x , + 2 x , + x ,  =  0

9 . X(+X3 =  I

x2-x) = 3

2x,+5x,+3x,  =  1

IO. 3x,+x,+2x,  =  1

x,+2x,+x, = 0
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elementary transformation matrix

elementary row operation

elementary column operation

equivalent

row equivalent matrices

column equivalent matrices

augment matrix

‘normal form of a matrix

elementary matrix

single elementary operation

premultiplication

postmultiplication

4.1

4.1

4.1

4.1

4.1

4.1

4.1

4.2

4.3

4.3

4.3
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